


A) Calculation of EDSI, IDSI and DSI

EDSI = 4 - 3 = 1

IDOF = 3(10-1) = 27

IL = 2(2-1) + 3[2(3-1)] + 2[2(4-1)] = 26

IDSI = 26-27 = -1

DSI=1-1=0

DSI can be also calculated as it can be seen below: 

DSI = 10 + 4 - 2*7 = 0

Thus the structure is stable and determinate

* 10 beams

* 7 hinge joints

* 4 Reactions



B) Calculation of the reactions



 

C) Force equilibrium in node 7
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Using these expressions the following results are 

obtained:
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C) Force equilibrium in node 6
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C) Force equilibrium in node 5



Using these expressions the following results are 

obtained:

C) Force equilibrium in node 4
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Using these expressions the following results are 

obtained:

C) Force equilibrium in node 3
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Using this expression the following result is 

obtained:

C) Force equilibrium in node 2
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(only to be used to check the results)
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C) Force equilibrium in node 1
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Calculations are well  

performed



Computer Based Analysis


